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Answers 1o questlons are 10 he given only in Engl:sh except in the case. of candndates

- answers m Hmdl, hlsfher answers in I-Imdl wnll not be valued
Questnon No 1 is compulsory
Answer any five questmns out of the remammg six quesuonsq

In case, any candldate answers extra questmn(s)/sub-«quesuon(s) over and above the
reqmred number, then only the requ;sxte number of quesnons ﬁrst answerad in the -

answcr book shal! be valued and subsequent extra queshon(s) answered shall be 1gn0red .

Workmg notes should form part of the answer.

© Marks

'._1. Answer the fol!o‘wirig: 4x8
(a) RST Company Litd. has computed labour turnover rates for the quarter

 ended 31" March, 2017 as 20%, 10% and 5% under flux method,
| o repla__cement method and separauon method respectively. If the number
- of workers rcplaced during that quarter is 50, ﬁnd out (i) Workers |
| __fec_ruited and joined (ii) Workers left and disch__arg_ed and (iii) Average -
B ‘number of workers on roll. | R o

COT-H - pr1O
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(b) AB Ltd. has fum1shed the followmg mfonnauon

Budgeted Actual -
__ . July 2016
| Number of working days B 25 | 2T
Production (in units) | 20,000 22,000
- [Fixed overheads I ?30000 ¥31,000

(@
COT-H

Budgeted fixed overhead rate is ¢ 100 per hour In Ju}y 2016 the
actual hours worked were 31 500 In relatmn o ﬁxcd overheads,
calculate : R

(). Efficiency Variance
(i) Capacity Variance

~ (iif) Calendar Variance

(c)

(iv) Volu_mé Varianc¢

(v) - Expenditure Variance

You are given the following information of 5 firms of the same industry :
- | Name of the | Change in Change in Changein
! Firm Revenue Operating Income Earning per share
M 28% 26% 32%

N 7% | 4% 26%

P 25% | 8% 23%

Q 3% 43% - 27%

R 2% | 4% | 28

You are t'eqtilféd.td calculate : | -

(i) - Degree of operating leverage and

(ii) Degree of combined lcverage

for all firms.

COT-H
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(d) VK Co. Ltd. has totaI cash dlsbursement amoun!;mg 722 50 000 1n the

(a)

- year 2017 and maintains a sapamte account for cash dlsbursements

_Company has an administrative and transaction cost on trans_f_errmg

&

COT-H

Marks

cash to disbursement account ¥ 15 per transfer. The yield .rate on

marketable securities is 12% per annum,

You are required to determine optimum cash balance according to

William J. Baumol Model.

© The Institute of Chartered Accountants of India

KMR Ltd. produces product AY, which passes through three processes 8
‘XM’ ‘YM' and ‘ZM’. The output of process ‘XM’ and ‘YM° is
 transferred to next process at cost plus 20 percent each on transfcr pnce:
and the output of process ‘ZM’ is transferred to ﬁnzshed stock at a
profit of 25 percent on transfer price. The following mformatlon are
available in respect of the year ending 31% March, 2017 ;
| Process- | Process- | Process- | Finished
XM YM | ZM | Stock
G G R S
Opering Stock 30,000 | 54,000 | 80,000 96,000
Material .1,60,000 1,306,000 | 1,00,000 -~
Wages © 250000216000 1,84,000| -
Manufacturing Overheads 11,92,000 | 1,44,000 | 1,33,000 -
Closing Stock 40,000 | 64,000 | 78,000 1,00,000
- | Inter process profit Nili 8,000 20;000 40,000
included in Opening Stock | |
COT-H P.TO.
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Stock in processes is valued at prime cost. The ..nished stock is valued :_:: o
at the price at which it is received from process ‘ZM’, Sales of the
| finished stock during the period was If 28,00,000.
~ You are required to preparc :
(i) All process accounts and

(i) Finished stock account showing profit element at each stage. .

(b) PQ Limited wants to expand its business and has applied for a loan 8
from a commercial bank for its growing financial requirements,
The records of the company reveals that the company sells goods in the |
domestic market at a gross proﬁ.t'of 25% not counting depreciation as
part of the cost of goods sold. |
The foilowing additional information is also available for you :
| T
Sales-Home .at one inonth’s credit 1,20,00,000
Sales-Export at three months’ credit (sale price 10% 54,00,000
below home price) o -

Material used (suppliers extends two months’ credit) ~45,00,000

. Wages paid %4 month in arrear o . 36,00,000
Manufacturing Expenses (Cash) peid (one month in  54,00,000
arrear) | )

Adm. Expenses paid one month in arrear 12,060,000

Income tax payable in four installmcnts_of which one |

falls in the next financial year | 15,00,000
COT-H

© 7" ©'Thé Institute of Chartered Accountants of India




© 3. (2 The following information was obizined from the records of a § |

'-.,(5)-5:%::' |
_ L _ N COT-H
L I-;_'__'__._::The company keeps one- mnnth’. 51 RN
 finished goods and believes mkeeng --?*10'00_;_.__._ il o
.zmcludmg the overdraft.. lnmt ()f ? 5 00,000 not. -yet :uullzecl by the | : :_;. 3

company Assume a 15% margm for contnngenczes Ignore the work-m- S o

progress. .

You are required to ascertain the requirement of the working capital of

the company.

.. manufacturing unit ; N O R BT k

- Sales 80,000 units @ ¥ 25 20,00,000

- Méte_rial cons_u:ﬁed o 8,00,0{)0_' .
| Variable Overheads - 2.00,000
- LabourCharges - - -4,00,000

- Fixed Overheads | 3,60000° 17,660,000

NetProfit - '2,40,000

Calculate

B (i) The number of umts by sellmg whlch the company wﬂl nezther
| lose or nor gain anythmg o '
S COTH ~ PT.O.
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- 5-__-(11) 'I‘he sa]es needed to earn a profit of 20% on salcs

®

©
COT-H

M

':(111) The extra umts which should be sold to obtam the present profit 1f _

itis proposed to reduce the sellmg price by 20% and 25%

| (1v) The sellmg price to be fixed to brmg down its Break-even Pomt to

10 000 umts under present condmons

PNR Limited and PXR Lumted are 1dent1ca1 in every respect except -

- -.capital structure PNR Limited docs not employ - debts m 1ts capltal o

' structure whercas PXR Lxrmted employs 12% Debantures amountmg

- you_:'

Q) Income tax rate is 30%

(ii) EBIT is ¥ 5,00,000

(iii), The Qquity c&pitalization rate of PNR Limiﬁe(‘i; _is.ZO_‘_%; and
.(iv)_ ._.All. .a.assumpt:ion.s_ of Mﬁdigiiaﬁi-Miller Appréa.gh. are lﬁgt. .
Cﬂcq]a@_;. - | _ e |

(i Yalue of both the companies,

(n) | Welghted avéﬁgé co#t of capltal for b{)th tl_le.'companies. |

' COT-H
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o ¥ 20 00000 The fo}lowmg addltlonal lnfonnatlon are gwen to
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JKL Manufacburmg Company Ltd
._ Openilig_.Bglance o
- .Purl'chases |
_'I‘ransfér from WIP'
R Issue to WIP | |
o -Iésu_e for repairs
ﬁ_eficiency found in stock
3 WQ{'}gfinmPlfogresg |
':_."Opening Balance
N D1rect wages applied -
- _Qvérhead charged |

‘Closing Balance

Finished Production :
Entire productidn is sold at a p_rdﬁt of 10% on
cost from work—m-progress

Wages Pald
Ovethead Incurred

(a) The followmg mfoxmatnon have been extracted from the cost record

90 ooo N

-430000__;.__.,;__._ o

24000

480,000

000

1_',80,_0.0.0_'. S
180000
720000
1,20,000 '_

2,10,000

- 7,50,000

| Prepare Stores Ledger Control Ale., Work-in- ngress Control A/c,

Overhcads Control Alc. and Costmg i’mﬁt & Loss Alc :

COT-H
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C_redi‘toxz'g.'{vle__locity o | 2 months
| Stock i‘umover Ratio 1S
Grosé_Préﬁt Ratio’ o = 25%
Bills R_e_;cei__v_abies ) 225000 |
'_ ‘Bills Payables - I 4 10,000 -

- Gross Pmﬁt - | §‘4,0Q,OOO_

Fixed Assets to turnover Ratio 4

Closing stock of the period is ¥ 10,000 above the opening stock.

Findout:
(i) Sales and cost of goods sqid
(i) _Sundr_g Debtors

(iii)- Sundxy Creditors

v Clc;sing_stpgk_-_ o

...(v). Fixed Assets -

- COTH
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. (@)
(b

()
()]

(a)

)]
COT-H
Explain ‘Cost Unit’ and ‘Cost Centre’.

What are the essential factors for installing a cost accounting system ?

Explain.

Distinguish between ‘Funds Flow’ and ‘Cash Flow’.

Marks

- 4x4
= 16

Distinguish between ‘Profit Maximization’ and ‘Wealth Maximization’

objective of a firm.

You are given the following data of a manufacturing concern :

Variable Expenses (at 50% capaéity) :
Materials |
Labour
Others
Semi-variable expenses (at 50% capacity) :
| Maintenance and Repairé "
Indirect Labour
_Sales'Dept. Salaries
Sundxy Administrative Expenses
Fixed Expenses :
| Wages & Salaries-_
Rent, Ratés and Taxes
- Depreciation

-Sundry Administrative Exp.

coT-H

Cot
.
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Y
48,00,000
51,20,000

7,60,000

5,00,000

119,80,000

3,830,000
5,20,000

16,80,000

11,20,000
14,00,000
17,80,000

P.T.O.
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The fixed expenses remain constant for all levels of production. Sem- |

‘variable expenses remain constant between 45% and 65% of capacity
- whereas it increases by 10% between 65% and 80% capacity and by
© 209% between 80% and 100% capacity.

Sales at various levels are as und___et :
- Capacity Sales (¥)
75% 2,40,00,000
100% 3,20,00,000
Prepare flexible budget at 75.% and 100% capacity.

X Limited is considering o purchase of new plant worth ¥ 8000000, The 8
expected net cash flows afler taxes and before depreciation are as follows :

Year Net Cash Flows
. T

{14,000

" 14,00,000
14,00,000

14,0000
14,00,000
- 16,00,000
20,00,000

©30,00,000

N =T - I S T T Y SR o ¢

20,00,000
10 800000

COT-H
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B You arereqmredtocalculate L
'(i.) Pay-back ﬁeribd | |
(ii) Net present vatue at 10% discount factor - i
(iii) Proﬁtabi_lity index at 10% discount_ factor
(iv) Internal rate of '_retum_ with the help. of _-1_0%;and 15% discount factor

. The following present value table is given for you :

Year | Present Viilue of?1 at Present valoe of ¥ 1 at |

- 10% discount rate 15% discount rate

1 0209 870

2 . 826 | 756
3 | ast o s

4 683 L s

5 821 | 497
6 s 43
7 .. 3513' ] 376
8 e - - .327
9 - 424 | 284

10 3% 247

corH P.T.0.
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7. .Answer any four of the following :

- (a) DISCI.ISS briefly the principles to be followed whxle takmg credlt for_ S

proﬁt on mcomplete contract,

(b). State the difference between Cost Accountmg a,nd Management B L
‘ Accounung | o .

(© .Explain the mean_ing and advantages of Faé_tdﬁﬁg_ B

(@) Explam

(1) Time Value of Money

' (n) AB C. Analy51s o

(¢) Explain GDR a_m:_l ADR.

COT-H
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fooe - - (Hlndl\ferswn) e
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mmlaﬁmﬁl

a‘rw mﬁa%qﬁm%mwi o

'qﬁﬁiqﬂmﬁﬁuﬁamﬂ mﬁ'&?m (W)/W(m)a‘mmmw&m".-'--.__"’:::-. ._
memwﬁ/mﬁ%wﬁmmﬁmmk o
- ‘651?5 fewaforat (Working Notes) 3'-61'(%; sqm@?[a-,fgq .

| (a) RSTM%{&%@&MW 2017@%@%?&&%#@%@%
S 311'at-i o T farftr (Btux Method) srf%mzm farfer am gereRwr
. fafr (Separation Method)@tm 20% 10% e S%ﬁ% Mﬁ?ﬁ
o e aﬁaﬁaﬁw 50, a‘rmaﬁm
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COT-H . . p1O.

) Ll M EReaEe i L il wes } L

© The Institute of Chartered Accountants of India

=20



R aser | B
I (@I ) | 20,000 35000
|t | ¥30,0000 | ¥31,000 S
o :mwma?wﬁm%IWmmﬁmmm )
o 'av%msooe‘nwraﬁsqﬁaw%mﬁm@m T

.:-(n) mﬁw

(iii) mﬁﬂm

@v) e o
W mﬁam . - - .

- (c) Wﬁm‘mﬁs Wﬁﬂmwmmm

e

| T | ﬁ nﬂaﬁq (Opergtin;;:come)' st otw 31 # uitad

1 o8e | 2% | 329

o2 M | 6%
2% 8% | 239

| 2% | 8% | e

25% 40% | 8%

mmﬁ%mmmmﬁm%
) wReemdRe im0
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@) VK= fafee w5 et zowﬁwﬂm{%amnzsoooom%m :

Marks ‘

mﬁmﬁm%ﬁm@%mm%lﬁm@r&ﬁm
mmﬁm@ﬁﬁamﬂswﬁ:w%l

feraups i srfegferal @ vl o gt 1200 TR B |

R fferm 3. whiver wieet % oEER SgeER dws 9
fauifa s Haa N o g | | |

(® ..KMR%HKAYWWW%@EMW@?

KM, g

YM HRCZM & o @ 1R XM oYM T S e
Mﬁmwwm%mmﬁmm%wm‘
ZM’ T G FIR I Y RN e W 25% T W g
 frmn W ® 1 31 W, 20173%%@#31%6!&%%@&%@

WW%

XM | YM | zM

N I S |
SRR Tare 30,000 | 54,000 80,000] 90,000
At 1,60,000 | 1,30,000 | 1,00,000
| ot | 2,50.000 | 2,16,000 | 1,84,000
TEH IR 1,92,000 | 1,44,000 | 1,33,000
sPmwier 40,000 | 64,000 78,000 | 1,00,000 |
e ST e T | 8000| 20,000( 40,000

COT-H PTO.
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(16) | -
- COT-H | " Marks
mﬁﬁmwmmwﬁmﬁmm%tﬁmmwm

R iR feha e @ R e 7 stk zZM’ & SR T s & |
mﬁﬁm%wﬁmzzsmwow -

I TR HT R :

| mmmmmﬁmﬁhmm
@ wfIRmnem, ™
(i) TR @

(b) PQ%ﬁ%gmﬁwmmﬁmmm%wmmm 8
| wmwﬁ%mwmﬁmaﬂm%wm
g

m%m@@wmmﬁﬁsmmmﬁmmﬁm,
B <61 Tshia =t Y SITa T WA A A §U, 25% WA SV U
I |

ﬁmﬁf@aaﬁﬁ?ﬁwﬁ%ﬁmwé
2

-ﬂiﬁ%m%ww 1,20,00,000
foms -~ Prafe dame R w © 54,00,000
(Forsa e we e & 109% %) |
s et (naeat & wre ) e e ) 45,00,000
ol T 4 ATE % T A - 3600000
frafoft = Q%) aF (% 18 1 wehr) 54,00,000
ST S T, T 18 1 9T 12,00,000

—iawﬁm’fﬁﬁﬁ%qm mﬁ%ﬂaa&ﬁ% 15,_0_'0,000
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mwmaﬂ:mm (uﬁm)m@mmmt@ﬁ%
3ﬁ'{? woooooﬁawwm ?sooooo%afﬁﬁwmﬁm%
aﬂﬂaﬁmqﬁﬁﬁm% i’rﬁwr@?ﬁ‘%m@ﬂmﬁ%mw%m
Hﬁ'—[l‘@ﬁrﬁlmﬁﬁlﬁﬁmﬁﬂﬁl

3, Mﬁmﬁaﬁﬁmﬁﬁuﬁamaﬁm‘%l

corH - . Marks._:_.

O Wﬁnﬁ%ﬁ%aﬁlﬁ@*ﬁﬁmmﬁmﬁnﬁ s o

Hﬂﬂ?wrm | - 3,00.00_0 S
o R

L fﬂim T 3,60,000 17,60000

w@ew 240000

mmﬁ

0 Wﬁﬁmﬁémmﬂaﬁqﬁmﬁ@‘ﬁaﬁt%?WI
COTH N 1%'1‘.0.
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corH Marks N

® Jmagmm w#ﬁ Rz s e m—a@ 3 ﬁw

@ - o o ! |
RmaY - | . '96,"0_()b |
W - | 480,000 o
Rt | 240000 -
TeFE @A _ 480000.:  |
| W*mﬁ‘h S 60000 o
'wﬁ%ﬁm 1m0
emwm ""1,80,000'
wiem 720000
sfmdy . 120000
we 3ee, mwfﬁmwamawm%m -
rné'mtfnm%! o -
- Tl | 210000
 3uRsa9 T4 (incurred) 7,50,000
O S fovefr wr, mmﬁaﬁww Wﬁmﬁmww

mm-wﬁwﬂmﬁmt | .
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(b) ﬁmﬁmwﬁ@mﬁwﬁaﬁ

YR - zas000

e 2 4,00,000

-mﬁwﬁrmﬁﬁqm . 4

st ﬁﬁnwﬁm,mﬁmwﬁ%ﬂ? oo R |
) ﬁm@ﬁﬁam?&w

i) Torfre TR |

(i) fafudmR

'(iv) azﬁzrtsﬁm _
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| COT-H | | Marks
5. (a) ‘ANATRR AANAHE HIEWERIL 0 o o 4xd4

. ' o : =16
(b) TH WG A@iHA FoTen Y o & Rig onavew wew v § ¢

AT | |
(©) I SR Uk e F wer SR I |
(d) TR F Ty fteefwer 3R o airemieor R $ T s

i |
6. (a) ThFmbden &t Afwg s RA R 8
wieErdEfier =@ (50% EHan o) |
wrEf 48,00,000
7 51,20,000
= | 7,60,000
3T -aftadRiel =19 (50% &7 W) ;
ST TE AT 3 - 5,00,000
- s A |  19,80,000
T T 1 e - 5,80,000
Taftre srmefees = | 5,20,000
AN 16,80,000
fren, wwEER . -+ 11,20,000
1 ' 14,00,000
Ry R  17,80,000

COT-H o " P.T.O.
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22)

COT-H | _
I = See & vl Tl W R R ¥ | srd-viEdsia w459
T 65% T T TR T § el 65% SR 80% s % = 10% |

T 80% AT 100% 4T % ¥ffet 20% 4 G T § |
fefi e e foger frerer &
o)

5% 2:40,00,000

100%  3,20,00,000
75%@1100%mm?ﬁasﬁamﬁwﬁﬁm

x frfis, ?sooooooq@%@ﬁﬁmaﬁmmmﬁwaﬂra

- ud ﬂaﬂ%’m
z
14,00,000
14,00,000
14,00,000
14,00,000
14,00,000
16,00,000
20,00,000
~30,00,000 .
© 20,00,000
10 © 8,00,000
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